## **Tabulation of Bids**

Page 1 of 4

Contract ID: 15473 Counties: STATEWIDE

**Letting Date:** February 16, 2017 **District(s):** H4

Call Order: 473 Project(s):

Contract Time: 06/30/18 COMPLETION DATE Min: Max:

Contract Description: Maintenance Machine Sweeping Contract, Statewide - 2016

Line No / Item ID Item Description		(1) R W V LAND-LIVESTOCK SOUTH, INC.		(2) IEW CONSTRUCTION GROUP, INC.		(3) DEANGELO BROTHERS LLC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	31,000.00000	31,000.00	0.01000	0.01	56,807.00000	56,807.00
_	RMANCE BOND AND NT BOND	DOLL						
0002	152004P	1.000	5,700.00000	5,700.00	0.01000	0.01	4,882.00000	4,882.00
-	'S AND CONTRACTO CTIVE LIABILITY NCE	R'S DOLL						
0003	MMG007M	(1)	20,000.00000	20,000.00	0.01000	0.01	11,055.00000	11,055.00
FIELD O	FFICE EQUIPMENT	LS						
0004	MMG010M	3,000.000	1.00000	3,000.00	1.00000	3,000.00	1.00000	3,000.00
TELEPH	ONE SERVICE	DOLL						
0005	MMD035M	5,800.000	319.36000	1,852,288.00	677.90000	3,931,820.00	794.00000	4,605,200.00
CLEARIN	NG SITE	MILE						

Page 2 of 4

Tabulation of Bids

Contract ID: 15473 Counties: STATEWIDE

Letting Date: February 16, 2017 District(s): H4

Call Order: 473 Project(s):

Contract Time: 06/30/18 COMPLETION DATE Min: Max:

Contract Description: Maintenance Machine Sweeping Contract, Statewide - 2016

Line No / Item ID Item Description					ISTRUCTION P, INC.	(3) DEANGELO BROTHERS LLC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		Cat Alt Set:		Cat Alt Member:			
0006 MMD055M  GPS Fleet Tracking System	10.000 U	480.00000	4,800.00	0.01000	0.10	550.00000	5,500.00
Section Totals:	Ü		\$1,916,788.00		\$3,934,820.13		\$4,686,444.00
Со		\$1,916,788.00		\$3,934,820.13		\$4,686,444.00	
Cost I		\$1,916,788.00		\$3,934,820.13		4,686,444.00	

() indicates item is bid as Lump Sum

Page 3 of 4

Tabulation of Bids

Contract ID: 15473 Counties: STATEWIDE

**Letting Date:** February 16, 2017 **District(s):** H4

Call Order: 473 Project(s):

Contract Time: 06/30/18 COMPLETION DATE Min: Max:

Contract Description: Maintenance Machine Sweeping Contract, Statewide - 2016

Line No / Item ID Item Description		(4) THE SHAUG	(4) THE SHAUGER GROUP INC		(5) TOTAL CENTER MAINTENANCE INC		
Alt Set / Alt Member Quantity and Units		ts Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001 151006M	1.000	40,000.00000	40,000.00	97,500.00000	97,500.00		
PERFORMANCE BO PAYMENT BOND	OND AND DOLL						
0002 152004P	1.000	5,500.00000	5,500.00	1.00000	1.00		
OWNER'S AND COI PROTECTIVE LIABI INSURANCE							
0003 MMG007	M (1)	5,500.00000	5,500.00	1.00000	1.00		
FIELD OFFICE EQU	IPMENT LS						
0004 MMG010	M 3,000.000	1.00000	3,000.00	1.00000	3,000.00		
TELEPHONE SERV	ICE DOLL						
0005 MMD035	M 5,800.000	830.00000	4,814,000.00	840.00000	4,872,000.00		
CLEARING SITE MILE							

**Tabulation of Bids** Page 4 of 4

Contract ID: 15473 Counties: STATEWIDE

Letting Date: February 16, 2017 District(s): H4

Call Order: 473 Project(s):

Contract Time: 06/30/18 COMPLETION DATE Min: Max:

Contract Description: Maintenance Machine Sweeping Contract, Statewide - 2016

Line No / Item ID Item Description		(4) THE SHAUG			CENTER ANCE INC		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		Cat Alt Set:		Cat Alt Member:			
0006 MMD055M	10.000	500.00000	5,000.00	1.00000	10.00		
GPS Fleet Tracking System U							
Section Totals:			\$4,873,000.00		\$4,972,512.00		
Contract Totals			\$4,873,000.00		\$4,972,512.00		
Cost Plus Time Totals			\$4,873,000.00		\$4,972,512.00		

() indicates item is bid as Lump Sum

**Vendor Ranking** 

Page:

Call Order: 473 Counties: STATEWIDE

Letting Date: February 16, 2017 10:00 AM District(s): H4

**Contract Time:** 06/30/18 COMPLETION DATE

Contract Description: Maintenance Machine Sweeping Contract, Statewide - 2016

Project(s):

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	R9610	R W V LAND-LIVESTOCK SOUTH, INC.	\$1,916,788.00	100.00%
2	12943	IEW CONSTRUCTION GROUP, INC.	\$3,934,820.13	205.28%
3	D2045	DEANGELO BROTHERS LLC	\$4,686,444.00	244.49%
4	S3204	THE SHAUGER GROUP INC	\$4,873,000.00	254.23%
5	T6778	TOTAL CENTER MAINTENANCE INC	\$4,972,512.00	259.42%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,